N of associated (recoToSim) looper tracks vs normalized x*

) tracks vs normalized x?

recoToSim)

[{

0 2 4 6 8 1012 14 16 18 20

track x?

berset

[N o associated

[N of reco track vs normalized x2 ]

syoen

|
=}
-
syoen areandnp
32
N <
ceed]o
— O
8
© =
—
.
—
N
—
o
—
0
©
<
N
o
5
syoel) axyey
02
H A
00 X
— O
IS
© =
—
R
—
o
i
o
—
&
EERES ()
<
N
1<)
° E
Z| syoenann
2
=
o
o
o T S
R [E8
wx [23
o £ P
- F-l
< E=
— 9494
afal
. I [oV}
—
....Jo
—
EERES (-]
----jo
2
R x
g
~ °
3
2
T - B
> 5 [=}
=) z —

syoen




	Contents
	Page 1


